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II Year Commerce Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-I11
(Cost Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@Us-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
Tl W SAar ¥ | o T ST U v 9§ S T 2
Tt 9wl o 37 T € |
PART - B (@us-91) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

T THE © Th-Ueh 99 94 §U, T Ui ¥ Hifor |

TS T 1 IW 250 Vsa) A Afem 7 8
iyl 3 gHE ¥
PART - C(@us-®) . [Marks : 30
Answer any fwo questions (300 words each). |
All questions carry equal marks. |
I O T ST | Felieh T ohl S 300 Y=l & 31 7 /)
Tt wel & o TEE ¥
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(x) What do you understand by labour efficiency variance?

sy geraT feoreror @ 319 N WHFA § 2
PART - B

(Tvs-a)
UNIT - I
(g@TE-1)
i. "Cost accountancy is complementary to financial accounting
and not a-substitute.“ Discuss.
TR SrEieR T Srais o I § A o wfereemue | S
wHifed |
OR
( 3rear)
3. The particulars are available of receipts and issues of an item
of stores for the month of July, 2017 as follows.
T, 2017 T ¥ fere el A feh 7 A v iR Fi

¥ Iqeiey faaxm Frefafaad ® ¢
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July 1 Opening balance 1,000 Tonnes @ Rs. 10 per ton.

July 7 Issue [Req. No. 115] 600 Tonnes

July 10 Receipt [G.R. No. 416] 1,200 Tonnes @ Rs. 11.00
per ton

July 15 Issue [Req. No. 216] 500 Tonnes

July 20 Receipt [G.R. No. 517] 200 Tonnes @ Rs. 12.00 per
Ton

July 27 Issue [Req. No. 317] 800 Tonnes

Material is issued on the basis of 'weighted average method'.

Prepare stores ledger account on the basis of above

particulars.

a1 fortee it i fafa’ 3% organ e s §1 st

T & snur w wh @ wE R F@
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UNIT - II
(zwrE-II)

4. Distinguish between normal and abnormal idle time. How
would you deal with each one of them in cost accounts ?
QT A ST R T SR w5 @ TE
¥ gy o 319 A el # R TR SHeRR H17

OR
( 3teET)

5. What do you understand by absorption of overheads ? Explain

the following methods of absorption of overheadé :

(i) Machine hour rate method

(i) Percentage on direct wages method

Sufer ¥ SR ¥ S N g §2 U % st
#1 Frafafea faftal A WT{BI 3

() e = R fafy

(i) were el W wfowa fafy
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6.

UNIT - II1

(3&TE-111 )
What is a cost sheet ? Why is it prepared ? Prepare a cost
sheet from imaginary figures.
w—ww@m%?agmﬁmm%?mmﬁmwaﬁ
% STHR T T WA e |
OR
( 3teran)
A road contractor prakash took a contract for the construction
of a certain road on 1st January, 2016. The contract price was
agreed at Rs. 20,00,000. The contracfor had made the
following expenditure during the year.
TF g S AT SHIR B A 1 5791, 2076 % T HoH
aqﬁwéanmnémq?zzzo 00,000 %. mam%ém%aﬁ
= =g ) .
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Rs.

Materials ; 1,25,000j
Labour 75,000
Plant 2,00,000
Direct expenses ' : 50,000

4,50,000

Following are the informations at the end of the year :

o 35 v # Fret e ot :

Rs.
Plant at site on 31.12.2016 150,000
Material at site on 31.12.2016 25,000
Material returned 10,000
Work certified 7,50,000
Cash received _ : 7,00,000
Uncertified work 40,000

Prepare contract account and work-in progress A/c.
3ep1 TN @ =] T G SR |
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UNIT - IV

(3FE-1V)

8. Distinguish between integrated and non-integrated system for

cost records ? Also give advantages of each.

TTA ST i TR-TahIdhd Ta Uhihd FONei § TR Sagd | SHI

& oy ot FaEd |
OR

( 31ar)

9. From the following figures prepare a reconciliation statement:

et stfensi @ weh Ty faero e

Net profit as per financial records
Net profit as per costing records
Works overheads recovered in costing

Depreciation charged in financial records

Administrative overhead recovered in cost

2803/9940 9

Rs.
1,28,000
1,72,400

13,000
11,200

11,700
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Depreciation recovered in cosﬁng

Interest received but not included in costing
Obsolescence loss charged in financial records
Income-Tax provided in financial books

Bank interest credited in financial books

Store adjustment credited in financial books
Depreciation of stock charged in financial boks
Factory expenses charged in financial books

Administrative expenses charged in financial books
UNIT -V

(F&E-V)

12,500

6,000

5,700

40,300

700

900

6,000

16,000

10,000

10. Define standard costing. Discuss the objectives of standard

costing.

YHIY ST @ik it IR € | yHIY e o &

IR I waEd |
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OR
( 3rerar)

11. You are given the following data :

sen frfafaa ors A gu € -

Period Sales Profit
Rs. Rs.

I 1,00,000 8,000 -

11 1,20,000 12,000

Calculate :

(i) PVR

(i) BEP

(iii) Sales to earn a profit of Rs. 20,000
(iv) Profit at a sales- of Rs. 50,000

A HIE

() T A s

(i) wHf=sg fag

(iiiy 20,000 T. T T HFAN 7Y foha

(iv) 50,000 %. &t fewnl W @y
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PART - C
(@vs-¥)
UNIT - I
(F&TE-1)
12. Write short notes on :
(i) Bin card
(i) Material turnover

(i) ABC classification

dftre feoforal fafay :
() f=w
(i) TRt e
(i) o« | FhH
UNIT - IT

(F®E-11)

13. What earning will a workman receive under the following
incentive schemes if he executes a piece of work in 120 hours
as against 150 hours allowed to him. His hourly rate is Rs.

2.50 and he gets a dearness allowance of Rs. 10 per day of

8 hours worked in addition to his wages :
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(a) Halsey premium plan, 50% bonus to workers;

(b) Rowan premium plan; and

(c) Emerson eficiency plan

frafafaa Somers desll & ol gfirs =t FE
ARy, Ak 9% FE H 150 WiFHd T F WH W 120 T
H qU X oAl }, 39 Wl wver ® 2.50 €. ¥ 3 3@ @t
o & faf® 10 %, wfafeT (8 o #1 @& f&A) w1 =
§ wEmE v foem ¥

(31) TR yefs A, gt #t 50% g

() Jaa vt A S

(W) T9E g drse

UNIT - III

(3®E-1)

14. A product passes through three distinct processes to

completion 10,000 units were introduced (valued at Rs. 50,000)

in process X. Following expenses were incurred :
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% 3@ Yo 2R A gd = fafim wfwemell @ S o ®
gfsar X # 10,000 FH1EAT (50000 F. qeF &) @ W | A

=g ffl T
Process X Process Y Process Z
Rs. Rs.. Rs.
Machine Expenses 5,000 4,000 3,000
Labour 20,000 30,000 25,000
Direct Expenses 11,000 16,400 4,600
Normal wastage 5% 10% 5%
Scrap value per unit 1.00 2.00 2.50
Actual output (Units) 9,000 8,000 7,700

Prepare process accounts showing the cost of output and the
cost per unit at each stage of manufacture along with normal
loss account, abnrmal loss account and abnormal effectives

account.
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UNIT - IV

(FHTE-1V)
15. Define activity based costing. What do you mean by activity
cost driver ?
foran senfia wmma S i wRonfia Fi | fr snafa
T Sl & 1 ST &2

UNIT-V

(FTE-V )
16. You are furnished with the following data. Calculate all
material variances.
skt FreAfafan wves el gu ¥ ) v gt freroiw T
s |
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Standard Actuals
Raw Mat. | Qnt. Rate| Raw Mat. | Qnt. Rate

A 40kg 4 A 50kg 5

B 60 kg 3 B 70 kg 6
Input 100kg 120kg
Standard
loss 20kg
Output 80kg Actual Yield| 90 kg

16
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